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PART—D
Mathematics

English Version

91. The sixty second decimal place in the decimal

representation of 22 will have the digit
(A) 7 (B) 4
©) 2 D) 5
92. (0-1-0-01) x 0-11 x (0-01 + 0-0001) =
(A),0:00009999 (B) 0909099
(C) 0-1010M11 (D) 0-00000099

93, What is the difference between the place values of
two 7’s in 17152712

(A) 699930 (B) 996930
© 0 (D) 30699
94. 5 &
L] 0.. ..... .......
I { !
1, 3, 6, 10, L.\are triangular
numbers. The tenth triangular number is
(A) 42 (B) 50
(C) 55 (D) 100
1 1
95. 121212 x (-—1—0-5 + m) ]
(A) 4214-1222 (B) 1224-2412

(C©) 1212-1212 (D) 2121-2121

96. Which of the following statements is incorrect for a

circle? :
(A) ‘The chords, equidistant from the centre, are of

equal lengths.’

(B) ‘The equal chor
the centre.’

(C) ‘The straight line segment j
of two parallel chords of
through the centre.’

(D) ‘The straight line joinin
parallel chords of a circ
centre.’

97. Tosharethe knowledg

need to consider
(A) a pair of par

ds of a circle are equidistant from

oining the mid-points
a circle always pass

g the mid-points of two
le must pass through its

¢ of corresponding angles we

allel straight lines only
llel straight lines and a common

Bengali Version

22 o
91. = o RS ST e 620% W I S I

(B) 4
D) 5

A 7
©) 2

92. (0-1-0-01) x 0-11 x (0-01 + 0-0001) =
(A) 0-00009999 (B) 0909099
(C) 0-10101111 (D) 0:00000099

93. 1715271-a7 7 ¥f6d B I A 4

(A) 699930 (B) 996930
(C) 0 (D) 30699
94- ° o‘o
U l ¥
1, 3 6, 10, ... 771 fargw R | SIgeA
Wi fage i =@
(A) 42 (B) 50
(C) 55 (D) 100
1 1
. 1212 ]
95,,J21212 (100 e 10000) =
(A) 4214-1222 (B) 1224-2412
(C) 1212-1212 (D) 2121-2121

96. 0% &0 oA @i el e e

(A) ‘FF (AF TACE SRES FEE T-aF Wl WA
=0’ - '

(B TR A T JLEA (e (ATE FAACY TAZS |’

(C) o AT AIGA G197 T AAES @A

¢ ﬂ‘gﬁm @ =

(D) T AT TG T3 5 AAGS HAET R
IR Jred I =3 S

>
s - J/
97. mqmmmwmﬁma@mw
(A) o ammwwwm
(B) TSI Aeorg 1w ARTCa1] @92 @l Kol

(B) a pair of para
transversal iy Tings (may ot (62U
(C) a pair of coplanar straig ine not be (C) =TETS!
parallel) and a common t_ranSV_erSal A1) Qaw AL (@ 3 )
(D) a pair of intersecting straight lines ® o S a9 o SAAGEES
.- does not represent the 7 PRetRTen e
98. Which of the following o 98. Tt ey
lengths of the sides of 2 triangle? ; oA 7 ? I frgrem arg oo vl
(A) 5cm, 6cm,7cm gg;§§$izﬁsz$ fgjscrhﬁcm” el T
j ’ ’ ; , 7 cm
(C) 2 cm, 3 cm, 7 cm ) 2cm, 36m, 7.em (g) 2 cm, 5 cm, 6 cl{q\
[27] D) 3cm,4cm, Scm

N ./
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PART'—D
Mathematics

English Version Bengali Version

99. Which of the following conceptual statements should 09, aifqw fmpraa s faoaa wiadiere faqfwafora sy cmralba

come first at the time of tenching Mathematics? elofs) il Bfos ¢

(A) *Zero'is to be taught with the first set of numbers, (A) “4psly" sl Sesigla A AR (I TA |

(B) *Zero® is to be taught after making learners (B) | e 9 it wgle atlpna AL “Heaf’a AA
acquainted with digits from | t0 9, ofafufea e |

(©) *Zero' is to be taught after making learners (o () famila Arefan Aegta #A Afav o niafon #fal
acqui:g the s:;nsc of natural numbers and binary e TR e Afafufoa Agiet |
operation ‘subtraction’. i o Pk ap atat(’ A o Afaffie

(D) *Zero” is 1o be taught while teaching the place ) j’mg’/m alfi S g o A A AT

20151 |

valuesyof digits in a number.

100. The proper sequence of the names of the three angles 100 220°, 180°, 75" €1W@ (%14 figaflya ar forgfen Araesforn @
220°, 180°, 75° is ' 7 8

(A) acute angle, right angle, obtuse angle

(B) right angle, acute angle, straight angle

(C) reflex angle, obtuse angle, acute angle

(D) reflex angle, straight/@angle, acute angle

101. Which of the following symbols is unique for 101, fraffusafor sy @@ fowfs Afarea s w2

A) IR, FHCHI, YA
(B) FPICntel, F[IHORIel, AAACEI
(C) =qaemld, gAC, SHC
(D) 2%, AGACAI, I HCPN

mathematical language? el elraen ¢ '
f }) W
(A) ? (B) @ (A) ? (
©) % D) & @f % D) &
102. The digit, whose place value in a number, does not 102, 77 sy caell ¢ Gewa g mfl oA I o
depend on the place is ! fagwie sm 1S @
(A) 7 B) 9 (A) 7 (B) 9
(©) 0 (D) 1 4 ©) 0 (D) 1
103. In order to motivate a learner to learn geometry, 103 wng&ﬁﬂm farapt @z sieay cement oot fraforfers carmfba
' el g ¢ .

v(d?
which one of the following is not required? . B
(A) Problems arising from life ,:ﬁ; g::(;.:(;rf::;, a3
(B) Folding of papers o e 9

C) Mathematical game . < .‘
ED)) Complex problems on geometry (D) atfufe Aty efber sy

, sofol gor
104. Given statments are— ' » 104, @vg fagf
(i; two angles arc complement’ of one¢ another if their (1) ¥ cane satacma ufi witwa 3% 907 71 |
() 70" =t cwteda sfaa catea «fmne oo 207

sum is 90°. _ ¢ (s an angle
(i) Complement of an angle of measure 70° 1 (i) 20° AfaseaAn ceiTan g7 caigan «fmns gm 707
of measure 20° { mensure 20° [san angle (i) 90" “AfEICAR CotLn o caieetdt et @m0

iii) Complement of an angle o | ‘
(iif) of mzasure 70°. o GO Ml (RGN SToITa) bt fopasan /ot -

(iv) Complement of an angle of measure 9(° is an angle  worm faqfoofem fMﬂf‘M cott aflofesy v B ¢
of measure 0°, (A) (i), (i), (iii), (iv) (B) (i)afi). Gw. (i)
In order to share the concept of complementary (C) @i, (iv), (), G (D) (), GG, Gii)

angles, 8 teacher should prefer the order .

(A) (1), (i), (iii), (iv) (B) (i), (iii), (iv), (1)

(i), (iv), (i), (ii) (D) (i), (i), (i), (i)
© R 108, 100 m (Y efernfstsm s, wiwresa sy 10 m-a cora

. 3 Nais < ce
105. Ram Joses 8 100 m pace to Faruk by 10 m. Distan Ay AT A D9 NS WimeEa Gt wfeany -

that can be covered by Fupuk when Ruam coyers n distanc® A) 10 m ) 91 o
019.9mi8mm (B) 91 m () Him D) 12m
A .
EC; 1m ' (L) 12m

(28]
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PART—D
Mathematics

English Version Bengali Version

106. Which one of the following is not n characteristic of 106, Frafifarznfor sy catafd afesa tafa sa

mathematics? (A) watwgna st (1) frdas
(A) Uncertainty in result (B) Correctness “(C) i (D) frszs
(C) Originality (M) Trathfulness

107. ¥ ateacher wants to share the concept of the formula 107, (o aower famsa (40w (a + b)? = o® + 2ab + b~
‘@ + b)' =a’ + 2ab + b¥, which question among the  staen i wara srm foraz ot el wizena aaran i

following should be raised to evaluate the previous YA M6{%-aa G FACAA ?
knowledge ¥equived for the content? ( 5%
512 25 (A) 132 =169 (T/F)  (B) ||

(A) 137 =069 My 2] = =1 “ -

: ) ( 3 ) 9 e (C) 67 =649 (T/F) m)) x5=5 (T/F)

= =2 (T/F)
)

(C) 67° =649 (T/F) (D) 5%x5=5% (T/F)
[T means ‘True’ /571’ ; F means ‘False’/fa4i’)

[T-2 99 “True' /1%y’ ; F-4 54 *False' [fasir|

108. Ram ‘can finish a piece-of-work in 6 days doing  108. efefim 10 w1 #rg *aa 719 9#5 1@ 6 %f? o
10 hours of work in each day. Actually, after working  ars “ita | fata1 10 9551 =17 3 e w5 =14 A A 71tz feme @
3 days (10 hours a day) he starts wotking 6 hours adayto  eff$fim 6 9551 312 1 @t €igee 744 @@l 402 7 73
finish the rest portion of the job. Then the total time Ram @7

would require to finish the job is (A) 10 @ (B) 8 fa=
(A) 10 days (B) 8 days (C) 12 %= (D) 15 fa=t P
(C) 12 days (D) 15 days q,\‘)@
3 e
109. Sum of all the factors of 100 is 109. 100-97 7&@ Gerivaaiaa i z# < \(-
(A) 216 (B) 117 (A) 216 (B) HZ
(C) 223 (D) 217 (C) 223 (D) 217
110. 35574 is divided by n to get a perfect square number.  110. ojefasf AN AIGAA G 35574-(F n WA B9 B2 =)
The least value of n is n-a3 FEE A A
(A) 2 (B) 3 (A) 2 (B) 3
111. NCF 2005, recommends that teaching of  111. NCF 2005, farda wepirca endfies wra sfes frsm o=
1 tics at Primary Level should foqus on @ .
mathema aration for higher mathematics 9), TwwEa HeATS SAIN era corE
(A) ;rgp ing students in correlating the classroom and (B) Catfrersss fadesd ayax (s Gara (0 s 1o
2 in l:aming with daily life HreTy wl

(C) Helping students to achieve international standard () Frarlia e P angstee W Siirs

i o in mathematics _ . 6 raes v
' ?\rbl;:l‘;zrs?lnfoncepls of mathematics () i foxé g
(D)

f the following is not an essen(é’al 112. Fufafes @ sfarer aiffs J@fuem, (formative
112. Which Ol;'v‘r o(:m ative evaluation of mathematics? _ evaluation) woifaand tafddy sm e
eh.ncuristlc o tont knowledge of mathematics (A) sficws fauy s @ sl

1 Judgement on €O 8
((‘;; ;:‘;cﬁ)inli!il)l‘ of fear of mathematics (B) sftediy yéfasast

(C) Self-evaluation of learner® (C) P14 o-apomye
(D) Time consuming sl/)) WA vy
is the mirror of civilization.”— Who 113 "l qu srgpeme w1 — a% iy s,
113. spMathematics (A) Heghen (87 Bacon
said this? (B) Bacon (C') Whitehead (D) Berthelog
(A) Heghen () Benhelot

C) Whitehead
() (29
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PART—D
Mathematics

English Version

114. Let A = (666 x 123 + 1) x (66 x 456 + 2) + 1 and
B = (33 x 578 + 2) x (333 x 734 + 1) + 1 then

(A) only A is prime

(B) only B is prime

(C) both A and B are prime

(D) none is prime

115. ‘Draw a geometrical figure.”— the level of the
question is

(A)<Knowledge based

(B) Undeprstanding based

(C) Application based

(D) Skill based

116. To evaluate the‘length of the path described by a
circular wheel by a complete rotation, we need to evaluate
(A) the area of the wheél
(B) the circumference ‘of the wheel
(C) the measure of the ciréumference of the wheel
(D) The length of any chord

117. If the sum of all the proper diviSors of a natural
number be equal to the number itself, then thé number is
said to be perfect.

For example, proper factors of 6are 1,2 and 3. Here,
1+2+3=6. .. 6is perfect number.

Therefore, for 42 and 28, we can say

(A) Both are perfect (B) None is perfect

(C) 42 is perfect but (D) 28 is perfect but 42

28 is not islnot

118. In order to teach the concept of ‘addition of
fractions’, which one of the following questions a teacher
should prefer first as an example?

1,1 2 g
(A 8=+ 5= B g5

3. 8 d g 2w
© F+5 =7 ®) 5+

119. Let p be a prime number. Given statements are
(i) p has exactly two distinct factors.
(i) p=1
(iii) p must be odd.
(ivi p-220
Which one of the following is the set of true
statements? ,
(A) (@), (i), Giv) (B) (i), (i)
(©) Giv), (i) (D) (iii), (i)

120. The digit in the unit’s place in the product of
first 100 prime numbers s
A) 1

B) 3
© 3 (B)

D) 0

[30]

Bengali Version, 5Y|
Beng 2"9\57¢$0098
114. @ a1®, A = (666 x 123 + 1) % (66 x 456 + 2) + 1
@t B = (33 x 578 + 2) x (333 x 734 + 1) + 1 ©1&7,

(A) ©qaIa A G o'“).

(B) wyai@ B G 3

(C) A ¢ B Teriz G

Py iR G

115. ‘=t Gififes foa & st '— o7 &a 23
(A) QTS
(B) QIEETS

(C) 2wz

(D‘)/WWW
116. <&l Jaa s @ 24 19 oo Htda g
e &y wmTes fdfa Faee =

(A) BIE CFEe

(B) v11a #Afafa

(C) v Afafda o

(D) @ @I EJ-97 e
117. =% o3 greifee At 7w gl Sestvrea Tae w4
et =, v w4t Fide a=t =z

@, 6-97 Y Teswaefa 1, 2 @3 31 @9,
14243=6..000 0 6 z&1 e Rt

SRR, 42 @ 28-99 T IS AfF

(A) %o fds s (B) %3 fads 7w

(C) 27 {s g 287w (D) 28 Fide g 42 77

118. “SMeea (iarwe’ ¥ I FAow Prws/ Bttt
fafafie emafem Ty @Rl sHeidm Swzad R gezm
A ?

A) 3 +

1]
-

3 (B) =7

+ 2

<+

S
5
2
5

(MY NI,_.A

©

119. @ TS, p 9FH CfeTS FL | eve Rgfoals =
(i) p-a7 SgEa 46 74T Teofias witg
(i) p#1
(ifi) p TIE SYoH ARG
(iv) p-220
Meon i e fgfen =6 2
(A) (i), (i), (iv) (B) (i), (ii)
(©) (iv), (iii) (D) (iii), (i)

? (D)

120. eem 1005 G AYT QITTom 93 HTw uw 29

(A) 1 (B) 3
©) 5 (D) 0
1 i | ’n’\')'l‘,l-
35,7, |

v, 39
Rrd
o B
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